% &

.FDO3F



121 12::>3

I ""# $ UHE # C %& ™ 1 ""DH#%
D) * * + s . ! # - .
+ # /

1&” ($0 ~1(&

1, + 23
z 4 5 + 6 6 * 4 #PB
6 7 8 + 41 4 9: #% 56 5 b ;
+ + 5 < 5 " = = 22>
@3
7 6 * 4 2 5 7 5
5 + 7* * + 1 2 > A5 2::4 5
6 57 5 4B * C +5 1" 2> @3 !
* 5 6 5 5 * ; 7 * * + * ;
+ 1- 2* B3 #* 4§ 6 * *5 4
"" +5 - B 23 5 * C 6 4 4
" +5 =>3
z 4 6 7 5 6 =
" +5 % ? 3 H# 5 4 7 * * + 5
4* 6 4 * + 7 47 "= +5 7" + 5
/ 3 H* 9 4 - 5 6 *
6 B+ 4 6 "5 1, * + 2 =>0993 ~ 7 6 4
B 5 ! * 5 6 5 *oRLT
>2 3# 5 6 *) 6
7 $ + 7 4 7 5 7 * 4* * + +
* 1 * 5 - >3
z 5 5 4 i ) 5 7 5 47 5
* (5 5 * 1" +5 37 5
4 6 4 +7 6 47 1* @93 ~ +
6 a7 B 5 * * z 5
6 (5 5 6 5 17 7 6 5
* D 6 - > 1 * By~ 6
5 * s 1 * 5 - 93 7 + B 7
5 I'5 C * * B 6* ++ 7 > 57 :23

77 5 5 * 5 7 7+ 1 < 36 - < HFF



H B

WH&” #&$S # (C N& " !

6 E 7
1 - F#* 3 (5

--)#%



G
HIHV(& #

# % (S

,+2 #+

--O

o



+

>

/ 5
295

I "% $  UH&” #&SD # ( %& ' !
C 5 5 * a4 + ;5
9 3 + 7 7 + )
*k 6 5 * 6 4 4
5 7 2:1"" + 5
- 1e* 023 -- 5 7
5 7 6
+ 6*7 4 = 1" +5 @>= 7" >
1, + >3 +* *
205 § 7 6 4 * o+l
5 7 A 6
a 6 5 * 4
* 6
* 6 6
+ 6 7 S5 B 4
* + 7 + 6
a * 6 6
7 6 6 6 4
5 * B+ E + 6 4 S

ll)#%



G #/#°1(& #* * #%$ (3 O

o -
4 21 % 4 5 47 7 * . ia s s
+ o+ 6 4 # 4 7 7 5 a7
$C O &#% /1S & * -
" #
> B 5 4 5 H —o59 ;
7 + * 65 A5 - 2 2
6 1 4 4 5 B 5 g - 2,
9 5 B 5 PRSI - N
* B 5 4 ,
#B 1 2 34 A i e
.7 Bl 27 R
P ) 64
N 7 + 18 + <5 *
7 * 6 4 66 6 4 17 7 99 2035
6 6 <5 B « B
He | % 6 - 6
* 4 4 D 7 * | * 9zy> N
6 4 * L o ; 3 GH+ 5
6 4 , * B 1 L
+ 4 7 5 B 4 5 -
) 6 - 7 e, B S
rogsr 4w 545 15 a 5 7 %
b 6 7 6 , a ‘ (s
"+ 5 H+ 23 % 7 0 s :
6 1 (5 <3 7 6 +6 545 L *
2 93 7 7 D 6 < . 5 ? )
2 6 4 5 o7 A
< 77 x 5 . s
1" * >=>3 7 *% a 7 : 5
H+ + 4 6 <7 5
4 6 H** < 5 6 *% 4 7 52 ” :
> 7 + 4 * 5 7 5 :
(5 ++ * 5 A* (5 <7 . :
b 6 5 (5 < 2 2 ’
4 * 5 7 . s s,
3 6 B +1 (5 <35 : :
8 + 4 """ 5 . s . .



H B

WH&” #&P # ( N& " !

ll)#%

6 (C5 <«



G #/#°1(& #” ° #%$ (3 O " (O -~

+ 6 57 7 = 1> >93 1! > 4 7 7;
@ C 3 1 6 7 4 * C 3 * +
5 4 Bl > @#3¥ + 7 7 10@> C 3 * ;
+ 5 24 B 1K 31" 202 2003 C + 7 7 6>99 C
+ *  + 5 5 + 1=
>003 ~ ++ 5 + 7 7 < C * 4
7 * B + 1 7 ** * a4 C
6 44 + 4+ 6
$ #S$ #
> H +4 6 4 2 5 *
s *%k 6 @ + + 5 7
J 4 5 o7 J + 6
- #7 ** - * ¥ -7
6H + 6 * a7 5 1-
93  ++ + #+ + ! + 4 5
4 * 5 -t ** 6 66 7 6
* 1- =31 + 4 7 6 6 5

+=  $ 6. 7 < 92476 5 + 1$35 4



ll# $

WH&” #&$S # (C %& " !

--)#%

56 7 * #B
B 6 - ¥ 6 S5 +
4 7 6
- < HFE* ” 7 6
1 >:0 6 7
6 K% 6 7
4 4 *
22 315 77
4 H4 * ot
5 +
6 5 * =95
5 5 7 b
+ 4 6 > 7
2= 29 6 5
4 B 4 #+ 5 4
5 6 > 5 4

s U1

*



G #/#°1(& #7 7 #%$ (3 O " (O -~ =

5 67 4 C 7 > 1 #7177
23
- 69 21, + = B 5 + 7T 4
7 + 5 4 77 0 5 b <
7 B 5 <8 T71- > 2335
b * + 6 77 ==15
7 b 74 B 1"t * 29:3
z 5 * 7
4 2 ; e 5 4 * +6 +
< C 1 31t 2003 ! B H+ * 5
* 77 5 + 4 B 4 14
5 6 7* 7 ! = 7 *
1 5 7 * * 3 2
5 5 5 7 b 1, + @% 4 * 7 b
7 6 6 ” 5 4 9 1" = 22=3
! 29 4 4 6 4 6 4 4*5 7 b 77 <
4 41" * 2= 74 5 + * * 7 *
+ <8 77 5 +4 B7 @2 1-
> 233 B7 5 6 77 b 77 < 4 4
C . 51 3 4 4 4 b 18 7«
+ 6 4 * 7 7 5 6 4 4
6 2 =Q >~ * + 4 4%
=5 7 5 4 @ 5 4% >:
5 "%, 7 4 4 7 6 4 -
! =9 47 4 b 5 5
< C 5 7 * + +5 7 5 *
4 b > 177 b 5 575 * 5 b
< 1 76 7" 7 44 9:35
° = 6 5 + b 4 b 4
.4 7 4 I * a4 4
a4 5 5 4 B + 6 * 4
+
TG #/ATI(&T
" L, + 3
! 4 7 ms 7 + 5 6
z 45 * 5 4 b 4 * + H
29 * 6 + 7 6 6 5 8B 4
5 5 75 6 6 1 !
nmg > 75 7 b 29 * + ; 7
* b5 5 A 5 75 ) b A 5 77 *
5 5 + 6 * + 7 ;5 5
5 ~ 66 b b 75 5 b






G #/#°1(& #” ° #%$ (3 O " (O -~

z 5 + 4 4 * 4 5 7 4
C 6 6 4 H 1 +5 B 3 7 H 5 ,
5 * 4* C z H
1 =L 3 4 H 7
o 67 7
Period Century(ies) Description Phases
4 * + 2
2 4 2 @ 4 * + 2 222> 2>*2@ 2=
> = 4% * +5 * > 14B; 73>2>>
1 3I>@1* 3
] M $ 5 5 7 * 4 >=1 3>9
A 7 > > 17 3>
16 3
+ e
= o1 +5 H 6 = =2=>
* 6§ 40 * +
* 6 3 * H
9 : + 'H + 9 1 392 92* 9>
6* 1* 3
# 65 2 2 >
66 *
2 ** o+ 6 - 95 5 7 @ = 2 >
6
2 + # 6 ? 5 @1 ** +3 =1
> * * 5 6 53
1
*17 3 2
1 7 3
> 0 6 5 7 1 + 4
6 6 32
1 7 3 > @
91 3
@ ** o+ 6 5 6 2 22 2> 2@ 2=
* 5 7 00 * + 6 29 2 2 2 2
5 &6 2
2 = 9 4 A + > >9 > > @
> , * B; + 7 6 + 6 > > 1 0 7
5 &6 @2 @ 9
] * + 6 76 5
2=9

1
N
|
N
©



D # B %H&T H#H&S # ( %&™ 1 TH%

z C 5 7 5 * + 7 6
6 7 4* * 6 7 z *
C 6 5 | + 7<1 6
"+ 5 =3 5 + 7 + 7 ;
4 * C ;4 6 + 7 6
4 § 7 * * 4% 6 7
5 6 5 6 4 5 C B ;
6 - 6 4 + 4 7 H 4% 7
5 + 17 * 3
&
Period 1
z 6 7 6* + * 6 4B;7 7 ;
* 6 - 2* + 5 4B ;71 5 4 4;
7 7 3 5 # + H 7 7 6 * +  * ;
67 5 7 6H C 1 * 53 ; 2 7
5 6 4 *
Period 21, + 3
z 4 1= / 65 , >=
4 6 1 >3 5 5 7 6H + 144 7
144 7 6 5 * B + 5 4 * 4= |, 4
6 7 + 5 6 4 C 6
6 65 , J 4 A
5 11193~ 4 6 C ++ 5 5 +
aA4# * 5 * 5 , >= , * x5 02
z 5 6 4#5 4 + 1+ < 4 1,+ 35 5
+ + * B* B+ 122@3 ~ 5 + 1 2: 443
4 6 4 15 3 4 * * B3”?” 4 5 A
6 5 D + * * 6 4 D
4 # 5 6 4 4 44 57 6 4
5 + 4 1 7 ** 7
7 6 4 4 = 47 * 6 4 * 4 6
2= D> B 5 7 4 5 6
5 * + H+ 6H * o+ z 5
5 + 7 4 4 9=6 1=:43 5 =6
122 43 1#77 >3 7 4 5 7 4 5 +
4 6 7 7 6 7 > 7 4 77
6 z 6 4 * * * 5 7 + 7 4
6 4 1 44#3 - * HA4 6 5 7 5 7 *
- 2 * 5 5 B 5 5 7 + 5 , >= ,
5 4 6
5 4 5 6 2= (C b5 4 4 5 6 +
* 5 5 7 *=* 4 4 4 + ;
z 4 5 6 5
I H 7 A 47 6* B <1HTT >3 7
4 7 44 * 65 ,021 4 3



G
HIHV(& #

# % (S

--O

o



D # B %H&T H#H&S # ( %&™ 1 TH%



G #/#71(& #7 7 #%$ ($ O T (O -

* C + 7 M35 65 it
A et M - 7 5 7
76 5 * B
5 a# 767 5 7 5 % I
4 #
- 7 6 7 6§ = +5 THO#C

- a + 4 67 B 47 i A

6 oa#n o+ 5 5 4 4 a5 0 ’
4 NPT 5 * g5 4 # *
4 . « a 5 * B 6 *
4 H 6 145 64 > ET+5 -8B &
5 7 - 7 5 b 4 > L ®
5 * ' :
4 6 a 6 6 4 x o+ ! !
A 6 + 4 - > 7 * 5,02 7 4~ *
* 5 *k * 6 - @
# o 6+4 6 + 4  @:44 4 1, +> 50 .
N x A N19y 4 6 85 ., 7 M
P ., 111623 # ver 64 4
5 4 4 1,+> =5 b4 ST 6 - o
s> 7 /5 7 4 "
46+ 5 4 4 5 6 -0 bl
205 b +4 ; o - AP A

0 s A A 4 2 5 x

+ > 4 47 + f i “ *

- 2 e 4 2 # i
54 * 46 6 A#+ * 5 g

#B 12 +4E * 5) ” N
5 . 5 a4 *§ * + 6- >

e 5 5 7 b 4- " Les )

+4 B 5 * 7 5 4 4B5 6 -

2 6 4 :

- ro6 - 2%+ + 5 ’ 6 ’
5 « + 6 + 6 4 b

7 - + A4 4 A ! # S

a1 35 5 7 5 7 7 ! RA
, S , § 7 5 7 H 65 5+ C

I -5 6 A#T  §  + 4 5 § + *

* + 6 65 , 7 4 6 +4 ; > )

c " . + 6 ” 4 5 *
_ “4 4 6 6 H * *g§ 6 * +5 »
++ 4 5 * . ) .

65 4 6 N5 [ 4 rat



2 D # B %H&T H#H&S # ( %&™ 1 TH%

> #$ ~ 5 7 4 * 44 C 5 C
+ 6 " 2> @3 5 * + + 7%
* + * 7 47 1" + 5 9 : @93
2 > 1" +5 - B 2 77 > 3 4 4 ;
" +5 3" 1 203 + 7 7 77
6 4 5 5 H * 4 4 6 7
75 5 * 6 * 7 6 + 7* * +
6 +
17 * < * +5 7 6 47 7 * 7 6+
4 4 4 7 5 7 ++ *
7 6 * 47 z 4 5 ++ 2= 1#77 >3 *
15 + 4* 3 # 1 + + 43 4 4 4
6 4 * * 44 6 +4 5
# * * * 7 + * 10 B 5N
9 9 22> @ ~ * 5 5 7 *
| <* 5 * 5 6 OBl* >=93
(& # ()
Period 31, + :3
z 6 4 5 , >= , 5 * 4B;7 6 47
4 4 z 1 m = 7 =44 § 4B ;77 *
5 ¢ @=92:2 27 Mi==3 M1>31/19312::312 3
5 * + C 4 * B ,2> ,22 5 7 6
4B ;7 ,2> 5 @9: >0: 44 =: 44 7,22 5 7 * *
; 75; 7 5 * * 7 5 @:: 2=:44 ~° 7 6
* B B 5 # + 5 7 5 6 ; 6
z 1/12:@3 12:93 12 :3 H + 6 * B 7 A 7 6 * B b5
6 * + 144 5 6,22 64 4 7 ;
7 7 5 5 7 * % 5 6 4 ;
* 4+ + z + 4 7 6 6 6
+ 4* 5 # 5 6 ,2> H 5 + * 5 412:=3
44 6,22 12:@3
=) 5 + ,2> .20 * 91, + 7,4+ > >3 6
4 5 5 5 6 5 * > * 6 4+
,2> ,20 * 4 + * BH # + * B5 6
7+ o+ 6,20: ~ B 6 95 4 +7 5 6
7 4 1, 5 >223%* 5
6 4 + + * 1 * + 6 *
5 4 6 47 6 * 7 ** 4
+ 5 47
! ++ * B ,2> ,22 7 6 4 77
6 4% 6 4 = +5 H5 *5 4* § 4
z* 4 7 5 5 6 66 B 1
@: 44 2::443 ~ 5 5 5 6 4 z
5 + 4 * + 6- 2 4 * * 7
4 5 ,2> 4+ * 4 6 + +5 * + 6
*



G #/#° (& #~> = # %S (< O o
, + - > 17 >2 > @3 B D
5 § + 4+ * ;* * B ,20:
+ + 4 *6 44
g 5 + pi * K
+ ! 6 7 * 5 + 7
[
#*# # ¢ ,
7 6 6~ > =3 e ; =
7 4 48B;7 + S} 7
b 4* 6 4 * + b * #
5 * 6 9 + 6,
5 4 17 7 * + 5 3 7
z* 4 7 7 6 -
5 * 4 + *H 7 4 * B
* b 4 + ,2> ,20: 6 4 9
# 5 7 ,22= +7 * B;H 9 *
7 7 7 ,200 * + 7 22 4
76 * B;H + ,2> 7 6
4 6 * 4 7 7 ;



@ D # B %H&T H#H&S # ( %&™ 1 TH%

, T 9 B +5
* 6 B 41/1 3 + 7 6 - >* ;
+5 + +
Period41, + 23
z 47 + 6 - > 7 ,2> 7 ,220 5 7 ,22= /
1 35 * 7 6* 664 4 /1 93 1 31, +
>: 237 A 4 a7 6 6 6 ++
5 A #*  0:: 44 5 6 5 4 6 +A
* 6 6 * ,229 5 - >
z 6 * 45 6 * * 5
* H ; 7 2=:445 6 6 4 * 7 4
6,229 z i *% ,20 + 4 6,229
z 4 ** 7 6 4 6 4%
* + 5 ,229 5 45 z 5 6 * +
* z 5 7 * 7 4 6
+ A /1 931 47 * 6 , >> 6 -
z 5 7 4 * 7 6 5 5 7 *:
* .20 6 LD ey
6 6,229 7 / A 5 * 4 7 1/
1 =3 * 6 4 7 1,2: ,2: ,2>213 ~ 4+ 7



G #/#°1(& #> 7 # %S G O - (O] z =
,+t 2 - @1 93 7 6 A 6 * +71 =3 7 * A 1 2
1 3 6 5 6 * +
144 5 6,229 - > +5 * =45 6
A 4 1/1 I# 4 5 6 *% ,20
> 3 = 77 6 4 7 6 5 6 - 0* + 7 - 0]
* 7 + 4% 6 4 = +5 7 6
5 & * H 5 6 4 7 ? 5 6 " 6
z 4 6 4 6
* 4 = + =5 6* - =6
,222 @ 77 * 4 + =1, + >2 2=3 *
5 5 ” 5 6 6 6 + 6 5
H 1,+ 2 @ * 5 * - 9 * , >
6 7 ** * + - @ #6 + ,0>1, + 2 N5
** 4 6 4 * + 7 1 5 * .0 1- =
Period 51, + >3
z 4 * 7 + 7 + 7
C * ++ 5 47
# 6 B 4 4 6 6 67~ /1 :3
5 6 z m1>:31, + >: 237 6 6 5
* * B A B * 7 B * 4~ *
+ 1 5 5 6 4 6 4






G #/#°1(& #” ° #%$ (3 O " (O -~

6 - =* + # * 6 4 * 7 B * 4+ 6
: 9:# P 5 +4 ""# 0 = * 53
z 6 * 7 1 5 5 *x ,0 7
6 5 * BH - @+ ,@> * - 9 5
6 ,>>>=
z ;5 6 * z I/ * 5 6 1, 3 6-
5 4 5 6 ,222 5 5 6
# + 4 , ,2225 2 :44 5
5 7 6 4, * + - 9*
,222 77 2>1,+ > >@3 6 6
+ 6 4 5 6 * ! 6 4 *
6 * + 5 H * * 6 * 7 6
7 * + +D ;5 6 * ;6 * + ,024 + 7,
7 6 *x 5 5 * 6 * B 6
7 + 76 6 * ++ 4 B ;
* 7 6 7 * + 7 4 +5 6 * ;6 0 * ;
+5 7 * * 6 4* * * + 6 ;
5 4 - 9 * + #6 +4 6 ;
5 6 * + 5 * ++
; o 6 6 * ;6 0 * + & ;
+4 5 6 4,02 ,222

Period 61, + @3

#* - * 5 6 5 *
4B ;7 5 4 6 z + 7 5 * z m
123123 >3 /1 31 3 1 93 * - 5 6
* 5 * 5 il , >L,0 4 B +
6 5 ,22 0O - 5 ,>2 z ns 5 5 ¢ ;
,>>>= 5 4 * 47 5 A C D *
,>>>=5 : =45 7 6 40:: 4”5 **
, >L,0 5 : = 45 * 22: >::44 7 4 4 4~
6 + 6 * 7 5 * + 5 > 5
4 6 I'5 5 5 4
7 = 5 * 4* 6 4 + 5 65
$ + 6 6 ,2: 5 + * + *
=46 4 5 5 ,2: 5 >=: 44 7 9=: 445
5 1 5 = z ms A *
C 5 5 6 * + 4*  §* 5 # H I+ ;
< 6* 7 + - 7 6 5 5 #I+ <
* B > 16 6 6 - 9*
+ B = "5 4 < 4 * 4
6 77 44 6 + |+ < *
6 7 6 4 4 + 4 6
: 6 * *
Period 71, + =X )

+ 6 5 5 ,22 6- 95 6 ’ b
44 4 4 945 4 7, 5 b
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3
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D # B %H&T H#H&S # ( %&™ 1 TH%



G #/#°1(& #~ = # »$ (B 'O 't (O] z 2
1' 5 4 + * 4 5
5 5 ,22 5 5 77 5 + 5
5 * + + 6 6 5 7 5
64 A 48 ;7 1119:3 /71 =23 1=>3 193
5 - 9=* C
# 4 4 6 4 65 ,2: 6- 9 ,2>:1,+ B 5
* +* 046 4 5 5 z 5 = 4
1>23 6 5 12=: 445 2>:44 +3 +
7 >4 4 * 4 65 5 ** 7 B +1/12:3 7 6
67 66* 7,0 4B ;76 6 * 5 6
5 ,22 ; , 6 4 7 B +1,+ >
93 B 5 4 = 6 4 6 4 B 1,+ >3
6 5 6 5
4* * +E 5 = 1- >36 5 * * +5
6 1- @ ~ * +5 6 ** [ 4
C 5 4* * + = 6
" +5 / 9> 0 * +23 7 6 4% 6 4 6 ;*
5 7 ** 7 6 4 ; 1.4
@ 2: >3 "5 * + 4% 6 4 * +
+ < * + 7 + 7 #7 6 *
6 * + 8 5 * + 7 @ ; = ;
5 + 6 5 4 * 6 4 5 7 +
7 1 5 3
z 5 = 5 6 - > * + 7”5 5 47 +
5 6 4 6 4 07 + * *
7 9 ,20: 7 7 *x * J 4 6
= ; * D) D) J 7 7 4 6 4
+ 4 65 4 5 65 + | + <) $ 46
5 1" >3
14+ * 4 5 47 + * + * *
7 6 I < ,20: 5 + * RO
*x 4 6 5 + + > ++ + 5
B 5 5 + 4 B 6 4 B ! 4 4
7 * 5 H 4
z 4 6 + + 4 * 5 4
6~ > 4 5 70 * 5 4 H * 4
* "5 * 6 4 47 7 6 + + 7 H 5
6 7 6 * + 7 ++ * +5 7 H 6
* 4 * 4 4
- > + 6 @ = z * b ;
6 = 9 ; 5 5 4 7 **
6 7 = * 9
z 5 6B 5 +5 = ; * < 5
& 6 7 7 * + 4+ + 47
7 5 * + 5 6 5 4 +



22 1 ""# B UH&” H#E&S # (C %& " ! "TD#H#%
* C * 16 23 # 6 - > *
6 45 + 5 4 + 5 6 4 > * 4 ;
+ 4+ * * 6 ; L 5
* + 6 + * +5 4 + H
#6 * BH 47 47 + 6 - > 6
+ 5 6 4 45 +
7 5 + 7 5 * 6 - @*
+5 5 4 * 44 7 >4 § 4 5 6 ;
7 5 5 4 A 6 4 5
7 # 5 7 + +
7 6 * +6 4 C 5 5 6 * +5
6 6 5 5 6 * + *
& + 6 4 - @ * + 6 * 6
6 4 9 "5 C 4
7 7 - 9 ++ > 5
4 C 6* + 77 *
J @* + 6 6 J * 7 4 *
* 5 - > - @ + 4 4 7
47 5 * + 7 7 4 * + * + 4
6 4 4 * 17 77 + 7 6 +;
+ * + * 5 4 6 4
- >4 4
- = 5 4+ * 7 6 * + 4
* 6 > 5 6 * +4 * * 5 6
5 # 7 **
4+ * 7 6 * + 5 4 6 * 7
6 * + 7 7 6 ; + * 5 5 6 4
z * + 4 4 + : z ;
6 4 7 ** :
z 6 - 9 * 7 5 4 6 # +
177 7 + 4 7 4
47 +* ,2: B B
z * +4 D + +* * 6 = 7 7 +
[ 5 5 > 5 7 ** 4 +
# 6 7 ** 77 5 5 7 7
H A + 7 7 ,2>: 5 6 7 6 4
5 6 z 5 7 4 * * 7 6 *
** 7 B + 5 4 * 5 5 ** 76 5
4 7 * 4 4 6 6 5 - >3 - 4
H * +
z 6 - > = 4 4 4 * * 5 7
6 * + 1 7+ 47 * 7
+ 30 % 5 +; 7 * 4 5 7
5 * * 7 6 + 4 * 4 4
C , 4 - @ 5 * + 5 5 =
5 b5 z + 7 C 4



G #/#71(& #”

% # , #

Period 81, + 3

# %$p G O - (O] z
6 6 5 ,>25 5
* 5 6 , >, + 3 #HO
* % * ’@: — 5 6
+ , > 6 - 95 ,22 5 D
5 , ' 5 =45 * 6
+ 41,+ 37 5
5 + 5 5 , >>*
4 6 - 9 5 ,>L,>=
,>2L,>: * 1 3 H 5
+ 1 =3 # 6 + 4 IA < B44
+4 6 A 4B ;71W/1 =3 1>3
7 * , >> ,>25 7 4 *
- 7 * z 6
6 B 5 * 4 =

2>

B
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H B

I/ B
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29

H B UHET HE&S # (C %&™ ! TD#%
5 % ,202 5
i ! 6 7* 5
6 1 * 5 ,+23 "~ 7 H 6
* 5 44 § 6 * + 7
* 7 * *
7 6 * 4 6 (5 5
@ 3k <
6 <1t + 5 @3
4 6 5
- 5 b
* 4 N 7 5 &
+ 6 5 ; -
4 6 7 +4
+ 5 "5 7 5 7 *
5 +4 b * 7
5 5 ;
z 5 7 ** § 6 5

7

* *



G #/#H71(& #~

,+ 2 B 5 + 6
) - $ $
5* 5 5 77 7*
#
) 5 *
4 + <H#T7 23
- 5
* 7 ; +5
#
# 5 5 * * 5 z
; 7
2: 37 5 +
z 5 b5 6 5 * 6
! 5 5 77 *
+ 6 * 5
5 5
z 5 6 5 4 B
* + 7 6 ?
> 5 +
6 7 6 4 C 5 B &6 C
443 # * 7 6 66
5 5 6 5 * 5

T H#HNS (B

IIO v (O > 2
6 1 $ "4
3 7 27 >= @ > 5 4 ;
5 6 3
| 5 N+N+ *
4 6 1,+23 7
- 2 ; 4
5 7* 5
5 5 6 5 1, + 223
7 14
+ 6 5 54 +
5 ; + 7 H ;A
B + 2 46 4 7
D 4* 5 6 2 ;
66 z 4 4 +
77 * 47 5
4 + 7 6 7
6 2 1 47
* 5 L 5 L
5 b5 6 5



, + 22

H B

WH&” #&$S # (C %& " !

--)#%



G #/#°1(& #> 7 # %S G O I (O] z 2
7 5 7 H ;A ! B 5
* * 4+ * 6 + 5 4 C 5 B 4 H *
6 7 4 * a7 5 * 5
) .
z 5 5 7 +* # + 2 5 5
5 6 6 + A 1 5 5
6 6 5 * 3H#HH ; o+ 4 2
6 + 2 5 5 6 z 2 * 6
5 5 H 5 6 6 7T + 7/ + *
77 5 + 6 ; ; # 4 * ;
5 57 * 5 6 29 z ;
;5
7 5 66 6 4 >
6 5 66 7 7 + 5 6 46 7
1 t4 + 2:44 73 5 =:;44 66 1 s §
14 7 + 37 5 * 6 -
A * 7 61, + 223
z 5 7 ;5 B7 7 5 7 z 7 **
@ =
) , # ,#
z 5 1,20235 7 ! 295
5 + 7 , 5 76 6 , >>
; 6~ 1/ 6 B 7 5 4
A 6 — 6 5 z 7 ** 6 66 + * +5 B
5 6 5
7 B 5 *H + ;* b5 /123193 103
5 7 ** A 5 7 H 6 2 >
> H 6 20 5 7 4 * 6 4 A z
6 6 1A <5 *
#
$ 7 * 6 29 b5 5 ¢ 4 6 + A B * 4 C
* # 7 6 oI ++
5 4 5 7 1#77 23 4;
7 + B 1, + 2>3 5 5 ; ; 7 7 ;
7 z 6 4 4 +
5 * + #5 ; 5+ 6 96 6 4
5 5 6 4 5 5 1, + 203 $ +
67 4 +5 6 4 29
7 5; 5 + 5 +4 6 7 1, + > @:3 + *
297 * ** 7 6 2 7 z 7
5 4 4 1* 7 46 6 7
- 7 EL,+0 23 7 024 #
6 4 5 H 4 5 4 4
6 45 ; ; 5 4 +



>- I ""# $

+ 2> &
&P =>3

Period 101, + 2=3
( *
6 5 + C
, >0 7 4 6 *
* 5 ,>9%* 6

WH&” #&$S # (C %& " !

--)#%



G #/#71(& #” ° #%$ (3 O " (O - >

,+20 / 5 6 6 B + 5 +
.4 - # % / # -+ + 1 9%
*



>2 1
,+ 2= - o7
6 7
b 6 5
5 4 ;
6 7 6: 4
5 7 4 *
6
* +’7
2F + 7
31! 4 B
5 *
5 z 5
5 7 7
4
A
# * 4
77 * 6
4 5
# 67
144

P UHEKTHES # (C %&"T ! TTDH#%
5 + + ;4 6 ,>9 , >0 4
5
6 - z ++ 7
6 297 , 5 47
1,+ 0 237 7 47 >
H 7 6 4 4 -
+ A + 7
5 4 #7177
6 ? + 7
6 6 ,>9 , >05 7
> 5
6 5 5 * * B
* * 97 +1,+ 2835
=5 7 6 B 5
+ 6
5 * * 5 C 7
5 6 5 * 77
* * ; 6 4
6 2:
7 ** 6 4
6,> ,> ,@0 ,=- ,9 =
4 + 7 66 *48B;7



G #/#71(& #”

T # %S (& O

, SEE1/1 531253 12523
- 54 *§

5 6 z mi 31 3 >@31, + 2
> A 6 - 65
+ | + 4 6 < 6- :
Period 11
- 5 + *
* 4§ - 6 * 5 7 6
* + 6
- 6 ,>25 47 kel 6 4
6~ I m - bl ,0: 5 *
47 41>9 3 /

,>0 ,09 5 + 7 # + 7 »=
*x ! 5 + 6 +4
1,+0 23 7 7 7 1
,+ 29 74 4 - > 6 B5

* 5 * F
5 5 5 | C* 7 4 *

66 + C 7

6 2@

+5 6 +4
22 2@ 2=3 #

b

>>



>@ D # B %H&T H#H&S # ( %&™ 1 TH%

5 + 7 1 2:3%* + + 7 + H ) ; A
5 6 4
Period 12
z 4 4 7 4 H 6 4 C 6
7 6H + :* B 5 4 7 6 55
*) A + 47 4 7 A +
7 - 6 C - ** 4§ - 6
Period 131, + 293
C 6 A /1 :3 C 5 6 4 - 2
6 9900 > + 7 6 + ** 47, @: 6 6 ,2>
6 6 @46 4 5 5 6
B5 , @ 1 77 6 5 4 200 5
! 6 6 5 * B 7 ** 6 ;
> 7 1,+ 2 2 23 5 5 6
* * % 5 5 77 * A 6 ~ 5 6 4
A 6 + 7 7 5 60 577 > * + 6
+ 6 65 7 4 * 44 7
+ + " * >:0 =3
Period 14
2= 6 5 6 7 5 B
4 * z 5 5 66 * 4 = 7
5 47 29 1 4 6 6 16
, + 223~ * 7 6 5 6 6 6 7 ; 29
C 6 5 * 6 2
6 - > > 5 6 6 6 5
z 7 7 + 7 77 7 4 7 + 6
4 7 4 6 4
Period 15
4 * + 7 * 5 7 ; 29
> B 5 6 4 7
* 4 * 4 * 7
5 4 5 = * 0z 6 4 +* + ;
* * z + C 6 7 6
7 4 5 * B5 7 B 5 7 6 4 a7
* ! * C 5 4 L7 4
4 + 4 - 6 7 7 zx >0 7 0%
4 6 6 4A + 7 C 5 4+ 6
+ 5 * + 6 7 90> 9@9 ! +
4 + * 77 6 4 ; + 7 6 +



G #/#71(& #”

#us (S
6 4
7 5 7
+ 2

--O

o

1

37 >2

Vo



>9

H B

WH&” #&$S # (C %& " !

# 9 1 1

--)#%

1ni3



G #/#71(& #”

#%$ ($ O

, t >2 20 2= 291~

173

o



D # B %H&T H#H&S # ( %&™ 1 TH%

, +>> 222 >:17 173



G #/#71(& #” ° #%$ (3 O " (O -

,+ >0 2> 2=# 2 # 2 17 173 >1~ 13



@: I ""# $ WH&” #&PB # (C W& ™" | ""D#%
,1&$
C #& (& * . )
Date A.D. Period Phase SF
# 6/ 29 : 2* 20
1 + 4 3
R@* * +* >=: M 2* 2=2
R@* * +* >=: M : @ 9
R@ 6~ ! +* > = 9 92 >>:
R@ 6~ 113& $ 1@3 > = > > >@>
R@ 6°"° 6~ > = @ > >>
/ N
R@ 6# 13& $ >3 > = @:2 9 92* >i=
R>@ +* @ 9 92 >2
R@ +* @ = => >2
R@ +* @ = => >2
RQ@ +* @ 2* =
R@ +* @ 2* 22
! /# #&S-C 7, S/ (& F . ,
Date Period Phase Context date SF
, + 6 4 7 2:= @ 2 >9 a4 2
4 7 1& 3
, + 6 + 7 20 2 2 > 22
67 6 4 + 20 =: 2 >9 4 2:
7 6"" "7 >*1&
4 & 3
! 6 + 6 5 T =
- 929 3 2 @ 2 >9 4
, +6 5 & 3 > 2 2 >9 4
, + 6 5 "> + >00 = 2 >9 4 >
1& >=3
7 +* * 5 22 > >
C 6 6 % B = 5
6 + 6 17 6 92= >0 > @2 4 >
1- B2: 3 5
6 + 6 17 26 9>9 @@ > > 22=
1- B>@:3 5
"t 67 6 4m 7 9 = @ = =
- 6/ : @ = 9
z 4 7 z 7 >9
J 7 4 7 6 7 *

Comments

~N\ TN

Comments



G #/#°1(& #” ° #%$ (3 O " (O -~

-C*;, $'/# (B8 & * . )
Date Period Phase Context date SF Comments
. 6"" ! => @ > @2 A 4 =
& 4* +1 >= 3
5
$ 1 > = 3 => @0 > @2 A 4 @
5
$ 1 >0 3 => @ @ = * + 6 20
29
6 6 6 & 4* + 92= @ = * + 6 >0
1 : 3 29
6 + B 1D 4 992 > @ 2 = |1
3
z 9 ; D , @ ,2= 7 @25 7 **
#$l71& "8 & 1, + >=3* 66+
& ¢t 7 LLS 6 ? 4 + 6 + 4 +
1+ A 47 4 447 H Y £ 4 61 * B 7 3L
16 + 6 +35 6 6 + 1 %
3 ,2@W/123 - ;
2 B *; A 4 >44 5 + 6 B 1
7 0 + 7 + o+ ++ 5 4 * +A 5 7
6 +4 ,>>9 /123 - ;
> 1+ A 4 44 5 B + E 7 5 7 +
6 +LLIM 5 5 A B + 6 43 + 7 *
4 < 16 7 35 + + + , 2= W/ 1 3 -
> 7 * 47 7 5 4 7
6+ 1+ 4 B 6 4 7 3 *
4 B * 47 7 B 7
’ B + ; - 47
7 # + 7 H 4 4 * C 4 67
& >5 77 B + 40 6 * 6 4 4
7 1 B >3 21* 6 4 4
* 7 * * : 5; + 4 6 +
5 6 5 77 B5
z + 7 H 4 + 6 B 6H *
6 45 B 5 ; H & >4+ 66 6 * +
6 4 * * 4 7 + 7 6
* 4 + 45 + & 7 7 * 6
4 4 2 4 + b* 4
6 4 7 6 6 10, : % 237
* 4 + * 6 7 4 # * 6
+ 6 * 4 N 2 4 B + *
4 * 47 6 6 66 + 3 46 4 7 +



@2

H B

0/ »
H&” H&S # ( %& " !

--)#%



G #/#° (& #* ~ #%$ (¢ "0 (o z @>

7 4 # 7 a 7 B 56 4 6* ;
4 B 1 7 * 6 66 5 C B + b
4 + * 5 7+4 316 7 7 4 + 7
4 B 5 7 L B + * B
* 6 5 5 7 + *+ J5 7 6
77 z 6 7 H 7 77
6 7 H A4 M6 B > 23
> -7 % * 1
= C 67 6 4 5 4 1209 3 44 N
Z* 20 5 7 ,* 17,3 4* + 7 H
4 6 4 o 5 6 *4 6 6
1 > >/ > @37 6* + * +
C * 6 ; + 66%* 7 6 4
D 6 6 * 7 + 7 + 7 67
77 * * 7 4 C ? 4
* H Z 4) 6 6 4 - 9 5 5
6 6 ; 2 17,0 z, >3
& 17 * 2
4 7 6 4 1D >=T 6 4* + 1* 3 *
65 H 7 2 6 4 =T 6
4 4* + a4 * * 2 >
* 6 + + 7 67 * + 4 7 4 7 7 ;
6 4 4 5 H ~ * 7 7 6 * 6
: 76 4 6* 6 4 4* + + * 5
456 717 -(+ #
6 > 7 x4 > 4 @ # oo+ *5 4
6 4 b - 2% +? 7 ** 2
483
L 7 6 4 > * 44 a7 6 4* +
] 6 @ * o+ D A+ 5 N b*
4 9:) # # ( #
# 4 6% +1 36 4 5 6
4 s
z 7 7 6 4 2 * 44
0 b + 5 + * 5 * + 5 *5
4 < ) # ( #
6 + * + * B 1 7 * 4 6 ,
5 17, 283 * 4 N 6 4 8B H 6H (G5 *56 +4



" N
® o0

o

¢c

3t

9

L

ac

A4

9

v

9

#e

9

9

[ X4

A4

« Q

£6

X4

X4

£t
N
=<1 9§
< <T +

gC < +
¢ <T+
£0 2T +
L9
¢ 1+
L9

$ 4
$

aseyd poliad

olqge) adA 1



G #/#° (& #* ~ #%$ (¢ "0 (o z @=

* 47 *5 6 4 N e+ 7 < 54 B
99 1** @ 9 3
4 < = ( #
” 5 45 + 76 4 D 5 6* 5 4 *5 71"5 -
B TH+ 9 3
4 ) #
” 5 = 6 6 4-206 4 -
4<< . %# # ( #
s 4 4 6 4 B; 40 ? 5 + 7 :4*5 ~ 7 5
+ * 4 @ 44 6 6 e ; =
+ 7
4< < 2
> 7 * D 7 * 6* 6 4- >
4<>% #( #
, 4 - >t
3 6 5 ; 510 5 6 * 5 *
T o6* 5 5 4
*3 6 4 4 D B* 5 * B 5 + * zf
H + | 7< 47 5 + 67 4B C N * + ;
7 44 C N + 5 4 * B + ;
3 * 6 +4 6 4 pat B + 5 ; H * 76
7 B* 5 H 5 5 4 | a7 5 6 + *:
+ + 6C N 4 7 44 * 5 + =44
4 ” 6 5 4 = z 7 * 7
7 ;4 I * 4 <
, 4- @t
4 b4 * B 7% T,@ 4 6 4- = 9
, 4- Of
3 46 4 5 ; 51 + 6* 47 5 + 6 +4
64 B C N
*3 6 4 5 ; 51 6> 7 * 7,>
35 B 6 4 4 5 5 47 6* 5
* B ; 7 244 +
#, 17 * >3
#4 7 6 4 7T ;4 - > @* + - 9* +
a7 4 7 ! 7 * 4 6 b 4 H
* 4 17,234 * 7 ; 4 * 7 5
4 4 5
b 4 7 C ++
5 17,0 # 7 * 5 17,6 3 4
v/ >3 7,0# 7 6 4 + b
#+ 7 C 6 4 67,0 - =



@9 % $  UH&” #&S # ( %& " |

> xS
n
o ~
0 <
.- N~
q_ +
o
q
Type fabric e# @ e> @:
Period Phase
= + 1=>3 U
9 C 7 1923 U
19 >3 U
D 1 3
C 7 123
C 7 6 1 2%3 =
, =1 >3
** + )5 1 =3 >
123
$ 4 1 @
& 1 3
C 7 123
C 7 1 23
- 1 @
- 1 =3
1 9
** 4+ 6 5 120 2
2 . 1>=3
. 1>9
> 5 2
Total 1 33 2
*S
5 2 >
7 * 5 > =
6 - 25 + 6 * 5 +

7

R
N
3+
. -
© 0
> @0
U
102
717,934

D +6*

0 +3

5



G #/#71(& #”

#%$s (& 'O " o

45 - % # ,
4 6 5 4 5 7 ** 6 4 B +7 #65 4 *
5 ; 5 * 4 4 * 4 6 4 - #7o*
7 7 5 5 4* - #5 H * 4
5 7 _ g * * 7 * *
45%  # # ( #
”5 6 4 4 B +7
4 * 2 # o+ <
# 6 7+ N7
45>% , -
- 6 4 2 C 4 B +7 5
48 % , #
# 2 ; 45 5 4 7 4 6 4- >
4 > !
> 7 6 4 > 5 D+ B +7
4
455 %
*5 65 ; 50+ 5 6 4 > = 4 6 4-
>
48<% , 1#
z 7 5 7 6 4 - 2 * 6 4 7 60+ 7 4 6
4 * > 6 5 6 40+ # 46 4
+ N 5 ; 5 B +7 5 7 - 2 4 *5 4 4 6 4
- >
( #, 17 * @
- >7 + 76 5 7 7 7 * 6 4
, 4 * B: + * C 6 * 6 ; ;
7 5 + 7 7 6 66 5 L 5
48<% , 1#
# 46 4 *5 4 6 4- >
4852 # + #
46 4 +N *5
488 (+# #
z 5 5 *5 4
48 (+# #
# o+ 6 4 5 7
40 # o+ - 1#
# 7 46 4- @



06

=<

=120 ==

* 99

A O

NN O

9

(o2}
N

A

19

*P

19

9

3

N +:d

S

19

SS9 x

c6

x

N +:d

+

L T ¢ €10
-c
+ x 6¢ @
YA ‘
4 e 01
L
¢ 01
+ g
=01
<01
®
YA ‘
el <1 ‘ <
n 6< 1 ‘
N <1 g
VvV 9 + xx 4
aseyd polad
= #6 6 olIge adA
ol
. ol
6]



G #/#°1(& #” ° #%$ (3 O " (O -~

4 @< ( 1#
#6 + * 6 7 6 4 7
400
#H7T ** 47 4 6 4 - > 5 7 7 6 4 - 0
40 # ( 1#
# * 5 7 45 § 4- > *5 46 4 - 0 * § 4-
40 &
# 5 6 4 + * B +7
40 $
7 2 5 4 6 47
4 >= z , ( #
> 5 5 6 4*5 5 + N5 7
s/, C Y T H S
7 7 A 65 7 44 N » % =
# o #( #A” ( 0 64 @
5 ;5 7 6 +4 5 6 - 46 4 * 5 2
C + 5 ¢ 4 * 4 7 6
? 5 6 4B + C 6 9: 4 4B +
+ 9:* @: 4 + 4 6§t 4C¢C 6 0:
B * 5 22 >=44 5 4 5 * H
* 7 + N 6 4 * 5 5 5
H 7 77 ! * 5 + 5
! 55 + * 5 A7# 4
+ # 47 § 4 6 47 4 ¢ 4 (5 - v/
23
+ % 64 7
5 § +4 4 6 4 + 2: 4 C * 2044
5 + 475 5 ;7 - + *
7 * 4 6 B6 *$
= #%$ # 47 6 4 47 4 6 4
> B 9 17 * 3B 7 4 6
64 7 5 a7 6
7 5 4 4 64 6 7 C
47 +
> a4 * 7 ** @ a4 *
6 +7 66 N + 0 =
e ; = ; B 6 4 6 4 6 >, 9 -
C 6 * + N 6



=: P ""# $ WK™ H#&PD # C %& " ! ""D#%
> % = A
Period Phase Context date Fabric Border tiles 12.0-13.5cm 15.5cm Fragments
2= 9
2 9
2 >= A4 9
> 0] = 9 9
02 9 2
e> 9
- 29 9
4 9 2
Totals 3 13 2 4
> @2 21
2::44 C 3
;7 17, =3 @ z 7, 7 4 * 9 ;
# TC# (C-1- 1,+ >3 * # -
z >>6 +4 6 * 77 (6 46 +
4 04 7 6 +4 *5 6 +4 2*5 # * *5 4
L7 C 7 *5 + * 6 +4
& 7 6H 4 5 7 4%
* ! * 5 5 77 *5 5 7
* 6 >: 4 b 44 6 4 7
, 6 46 +4 4 B & >5 5 + $ D 7 **
5 B 6 5 6 5 IIH 4 7 47 * + +
! # * 6 4 1- =@3 ~ 47 C 6
47 41 37 47 6 46 C 4 5 C
" « * 5 6 4A 6 7 ;4 7 ;29
5 56 4 5 29 C 7 6 5
,+>9177 3 77 1 E3 EI/1223 4 B *5 7T O# 9:m @2/
13 4B *5 7 9:: @7 >t I/ 12@3 4B *5
7 9:: @:7@EM134 B *5 7 2# 9>: 9:17=t
11=3 4B *5 7 2 9>: 97k I/ 1L3 4 B *5
72 99 El/1203 4 B *5 7 2# 9>: 97
EnNy 3 4B *5 7 ># 9= D pnR3 M2 /13 4
4 BC 6 47 9=: ) W/ 193 4 B *5 9=: 2 EHNII1X3
4 B *5 7 9: 2 2xW/13 4 B *5 4 +
> >EI/13 4 47 5 + 47 :
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HIHV(& #
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=2 I "# $  WH&” #&PB # ( %& " ! DI#H%
77 * a7 4 B~ 7 64 B * 6 4 4%
6 4* 5 a7 4 B ~! - >3 7
4 * 5 6 45
* +
C 6 *5 @6 4 2: ; 4 B~ a7 a7
+ 4 7 66 7 5 5 7
! 4 ++ + * + 7 47 7 ;
* 77 * * 6 4 7 9>: 9:
C * 5 : 5 6 7 4 1 46 4 * B; + 6
7 4 7 ; 29 ! 6 6 4 44 7
A 6 5 7 H * B5 7 H *54
- 6 6" 6 7 7 . 1- = #3 4 7 5
77< + 7 *5 = 7+ 6 7 ” 7 * ;
7 0 6 B * 6 4 +B + 75 77
6 4 4 4 * 4 +*5 4+ A 1-
9 20>3
> + + 7 677 4 6 4 5 7 ;29 ”
@26 +4 5 7 * B? ;
I # + 6 4 6* 6 7 5 * 5 4;
7 + 7 C 7 * 77 6 4 7 IIH 6
6 +4 5 +; 44 6 45 4 + 2: ;
(6 5 77 *5 66 4 7 6
* 5 90: 9:f 6 6 4 B 4 H 7 17
A 6 * +1 B 5 § D 7
5 B 7 6 920> ~ 6 4 6
4 z b *56 4 47 5 * 7
! #& (O # ,1&$
z 4 *D 6 * 65 6 + H 6 ;
z 1 =L 3 + 6 H z
4 76 65 7 z 7 4;
4 + 4 6 + H 1, + >3
$ * + 7 4 >p44 B 4417 ** § ; ;
> + 4 =44 * 7 A5 5 =
6+ 45 > 7 5 + * 4
B 7 + . 47 4 *) 4 + 2
7 @2 - >
$
# 4* 193 67 7 5 6 b6 - 2 > @
4 + 6 4 > =44
2 ,+4 6t 47 5 * 4 ,22 4 944 5 7
+ 6 47 ,20> 7 -



G #/#71(& #”

4 H E13*

© o #us ($ O

12>9 3 77 103
1> @

1=3H

o

I+

123



=0 D # B %H&T H#H&S # ( %&™ 1 TH%

"5 BH H +5 § * a4 H + (5

> 7’5 4 7 4 ==44 e=44 ~ 4 5 4
* + 77 6 7 6 7 6 ,2=0 7 2%
@ 7 4 a4 2 -7 2* -
= H Mo,>:0 7 - :
9 4 *; + B +4 44 + 2 447 * 5 ,2>7 2%
4 * 0§ * N + =44 5 N + - *x*
+ ,2 7 -
, + - 6 4 ++ ; 1 6 + 7 443 ,2=>
7 2% -
+ + =7 2 -
* B + * A 7 5 + ,* _ K x ;
16 # @ 7 >0: 3,27 02 - >
> +  * 6 47 ;4 z 6 +4 6 6 4 7
6 7 ,02 ~ 296 +4 65 5+ 4 E 6 +4
+ 4 6 +4 6 + 4 7
, 4 6 4 7 + > 7 + B ;* 5 7 z
* B 6 o+ 7 7 6 5 + g+ 7¢C
7 4 C A 7 I 5« > 7 =
- @
3 #
z 65 5 76 +4 B 5
* 6 5+ 7 7 * 66 +
2 4 + 4 > 44 I#< 7 +* 7 L+
6 -H$B/ - 5 + 4 76 4 7
6 + 5 " 7 1& YOS #*J " 5 <!
6 77 5 7 " 1 < & 4 3 47
+ > 5 W7 4* 6 7 5 B + H 6
+ 4 * 1 C 5+# + 47
6 7 3, 6 4* + 6 29
b 7 44 6 6 4 4 +H ;
1+ 4 6 # (2 22=5 H 4 6 4 ;
5 4 + >2: > 4 7> @
& H + + = 22> H+ @9 >= 26 4
5 6 4" 4* +
z *D 4 H q4* *D c ;
H 6H * + 7 4 4 4 6 6
> 4 - > 9 B * a4 + 7 6 B *
6 44 7 4 6H E * a4 ;
1G¢;



G #/#71(& #~ 7 # %$p G "*O
1"" + 5 2:
5 7 ** E @ 6 4

> 6H H +6 *

1
7 44 + 5 4 ,002 -
0 C a4 6 6H H +6 = ,0 = -
z 7 6 7 7 4 6H
I+ + 64
* (5 <«- " +5
, 11, + 2= 20 2=3 +*
VM- 6H 6IH < 7 1"" +5
7 6 N
# 6 4 6 4 6 -
+; 7 6- >7 a7 - 1&
+5 6 4 *
- B 23 7 17 * 93 +5
>* 9 4 47
Stamp type SF Context
= > @ I/ >
2: >0 1/ 2::
2= 2 : 1/ 9>
>@9 >92 \/2::\/2 =
>= > = >> \/ >
> >90 I/ 29
(& o-"0 1,+>3*
5 0 +6 +4 6 #+ ; 6 5
7 + 5 57 N * 5
* 4 I 4 < , 6
+ 77 6 " +5
* * 4 + > ot
2 , +4 6# + ; 6 5 7 * z
4 z 7 5B5 +
N * 5 7 6 4 * z
7 7 +6 4 5 H *
7 M, it nmi>:3 ,>
> 5 7 6 < +5 6*
* 5 7 5 * B 7
5 7 #4 6 * B6 4 5

L] (O >
W& >6 4 *
* 5 7 * *
* B 7 C
H + 5 +
5
3’5 * B
2L > 6- >
H+ => 37
2 4 * +
+ , 3
(5 <«- i
b &" 6
Phase RIB
20 20
> 2@ =
20 200 @
> 20 20 9
20 20 9>>
20 2@ 9
4 6 *
7 6 4
6 >6 4 (5
9:3 7 6 +4
/1 :3 ,2>> -
* +6
* 55
6
* 7 67
+ + 6
an z +
7



D # B %H&T H#H&S # ( %&™ 1 TH%

134 ; 66 +4 2123 ; 66 +4 2
1>37 6 2 ; ; *
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> B El 936 +4
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#us (S
6+ 4
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--O
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4 11
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= D # B %H&T H#H&S # ( %&™ 1 TH%

dY(8$ (& 1,+ > @23*

# 4
+ 6 +4 6 4 4 6 + 4 A 1193 + 6 65
, - 2 * - >4 8B ;7 111023 @ :-44 +  @>:
44 ,02: - 2
2, +4 6 4 4 @ :-44 + @0:44 ,>=> - @
> 4 6 +4 6 4 4 @ :44 + 144 >= - @
@ 5 4 ) +6 +4 6 4 4 @ :44 + 44 ,>9 >
= + 6 +4 6 4 4 6 * 4 6 - 6 , >5
7 4 @ :44 + >: 44 02> -
9 + 6 +4 6 4 6 - @7 5; 5 - *=* 4 @ :44 +
2= 44 ,029 - @
Z 6 +4 6 4 + pah pah 5 * * 5 =
=4 + 7 4 4 6 4 5«¢* 7 * 47
6y + 1" * == ?1"" + 5 = H+ 3, 6
7 6 D +6 5 H ; +
6 & @ H ; D +6 > ; + D +6
2 9 ; + +6 5 H ; 46 *
44 5 + H D + 6 * 5 * B
- 6 7 7 6 * * C 5 5 5 7 2
, > - @
- 6 7 7 6 * * C 5 5 5 7 2
2 - @
2 6 4 6 6 5 6 4
6 * 5 7 * ,0 2 5 6 6 4 6 7
5 6 4 2 ; 4 +5 46 * 5 5+ z
6 * ,0> 102: 44 5 >9: 44 73 ,0> 10=: 445 2 :44 73 -
@
6 4 4 6 * * C 5 5 5 5 7
z + 6 6 @:=44 + 2=:44 2
,0> - @
2 6 4 4 @244 + B 5 3 4 6 4765; 5 2
.0 - @
> 2 6 4 6 ] 5 6 4
6 #* 7 * 6 6 6 6H 6 *
5 5 5 5 7 6 6 z 6 6H 6
* 5 5 L5 7 4 + * 5 7 ;
D 6 4 6 ,0 - @
@ - 5 7 6 2 ; 5 & 4 6 47 5; 5
.0 - - @
= - 6 2 5 »> - @
9 - 6 2 ; 5 ,0>0 - 0
2 ; 5 7 * + 4 + 7
6 6 6H 6 * 5 5 5 |5 7 6 6
z 6 6H 6 * 5 5 L5 7 N §
+ * 5 70 6 4 6 ,> - @
2 5 7 * + 4 + 7
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H B

23 >

WH&” #&$S # (C %& " !

6 +4 2123 >

71>:37 6 > ;
71> @3 6 > @

57

--)#%



G #/#71(& #7 7 #%$ ($ O " (O -~ 9

6 6 6 6H 6 * 5 5 5 |5 7 6 6
z 6 6H 6 * 5 5 L5 7 z 4
+ * 5 70 6 4 6 ,> 9 - @
> > @ 4 4 6 4 - 5 4 ;
2= & 5 7 H 65 6 4 +7 ** 6 4 4
& 6 +4 6 7 7 5 2 6 4
4 6 5 ; 297 5; 5
, t4 6 ,0:2 -
2: , +4 6 4 6 4 | B < 7 5 5 * 6+ 7
> @ ,022 H
2 , +4 6 D 5 7 5 ,0:> -
22 , +4 * 5 46 * 4 + ) 5 7 5 .0
2> , +4 6 7 5 VA VA A * 5 7 ** 7 6
* 4 6 + > 5 7 5 ,0 -
@
20 , +4  § ** 7 D> 5 7 5 > -
= 4 6+4 6§ 46 4 + 4 § * 21* 3) 5
7 5 ,0: -
29 *5 | +6 +4 6 4 * 6 + ** 7 z * 4 ;
+ 7 H ,2 @ 2= - >
2 , +4 6 > ; 4 + - ** 7 6 4 2 1* B3 ,> - @
2 , +4 > * > 5 A 4 + +
75 6 +H 5 15 ; + 4 + 77 6 ,> 2
- @
2 > 7 5 5 7 H Oo* a7 z 5 H
4 6 @::44 1 4 4 35 4 5 4 4 6 4
1 2 * 37 7 5 ; 7 6 6 6 - @7 ,
e - @
& 4* 2 22 20 2=+ 5 6 +4 6 5 ;
6 4 +7 ,=:5 7 ** 7 6 - 10 ; 3 ** + 6
2 > b b b & 2: + H
* +5 + 7 & 2> 8 4 - @ ” !
7 *xx 7 6 +4 29 5 4 20 4
* 7 6 + 77+ 5 2 2 + H >
e ; 4 * 4 6 4 7 6 4
> 4 + 6 5 b
>1 - 6 7 + +6 4 > ; 7 * 6 4 4>
14 <4 + 4 * 4 6* 5 17 < 7 * 5
> - @
> + + 47 4 + 22: 44 + ,0:9 H
>2 + o+ 47 4 + > - @
>> + o+ 47 4 +20:44 + > - @
>0 + + a7 4 + ) 5 7 5 ,0:0 122: 44 +30 ,0:

122: 44  +3 H



92

H B

WH&” #&$S # (C %& " !

6 @ ; 4 +6 4*
+ 621>3 @ =
6 7

--)#%

7 +1>937
76 4

6



> @ 4 7 H 7% 64 > e ; +
+ 47 4 + 4 * 6 7 5
>= + 64 +7 * 4 6 4* 7 +
C 4 +A B * 5 44 6 5 6
0 - ]
>9 - 6 6 1 6 + 3 * 6 4 7 6 + + +;
77 6 6 7 6 6; 5
5 + 4 + 7 + 77 6; 6 4 5 5 @
- @
> $4+ 7 7 ** 6 4 7 7 7 7 6
7 4 +A B * 5 6 46 4
* B +7 z 7 6 6 6 7 7 6
65 C 5 5 6; * 4 5;
6 C 7 B * 7 #* C ;
5 6 6 6; 7 5 5 +
5 + 6 4 +7 4 66 7 A B
= ,> = - @
C #&D# - #> *
+ C 67 5 7 5 6 4
I/ 5 H 4 # 1 7 * 3
Period 11, + @>3
#A4 - 5 7 5 6 4 4B ;7 /1 2
- 2A 6 4# A4 6 +4 5 6 4
1/ 1953 * * * ** o+ § -
,>= 7 7 6H C 4 4 6 4 4 6 + * B7Y
* * 7 ** * 6* L5 16 4 * <A B
* B 5 19T3 6 7 6 4l/1 23 7 * B
;7 5 C 5 7 5 ;* A5 5
5 + o+ 5 ” 4 7 5 =
5 H 6 5 *
6 4 7 6 + + * B# 5 * B 4
* 7 6 ; 5 7 5 5
; 2 7 5 6 5 - 7
Period 21, + @@ @=3
! 4# 5 7 * H 7 67 5 7
6 4 * a7 5 + 7 65 7 6 4
1 5 7 * 6 5 7 7 H * +7
5 48 66 4 4
Z H 7 65 7 4# 6 + C ? 67
45 4 67 5 4 7B + 5 H 5
! 7 4 +  #* 5 7 ** 6
B7 7 7 6 + B 4 6
7 7 5 B z B7 7 4 *
* * * 44 * 5 + * *
7 5 b5 3 47 6 41/1953 $ B 5 4
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, + 0= 4 5 7 - 27 >6 4 5 6 4 # 111023 5
1 £@3
5 H 5 > 6+ 5 * 5 * > C
B 7 * 5 H 5 ; 47 6 4/1=) o+
B ) 5 7 + 5
14 1/12 22 =3 1111993 * 4 6 4 +
* + 6 5 6 5 B+
ok 7B + B B ! ++ 4 5 a7
5 4 4 #* 4 4 6 6
4 # 6 6 7 4 5 -~
66 c 7 6 6 + 7 64 4 /12=3 7
BB 5 * 4 5 + 7 6 4 4
7 5 7 B 5 + 4 +H#* 7
6 4 4 1111903 a4
> 7 65 7 B* B+ 7 5 B
a4 + 6 + 5 5 +
* 7 - 4 A 7 B, o+ 7 65 5 +
* - 5 64 5 6 A#6 411023 1/12 93
5 ,> " C 7 7 B 7 7 4=
* 5 N 47 * HA4 6
7 7 > §+4 5 7 B* B+ 7 5
5 4 > 7 4 * 77 6 5
7
# - 27 5 7 5 6 47 2> 2@
5 65 62 @ ; 7 * + 5 6 6
+7 7 - 5 * + 4 2
#o*(&
, * B 1 > = 2:: 4 4 4 #
H 6 = 475 9+ 7
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# 47 + 6 5 ; 4B; 76 29 A !
7 5 6 5¢E
D ZN - zor L5 7 6 L 7 @ + 2 L 6
D JENE:: zor L 6 6 L # =" z L 6 L
5 7 6 LS + = L o >, = L56 6 4
. o L~ a7 6 6 54 L 7 6 2 L 6, * >0
H+ L 7 6D +L * *
&/ (& &7 H /'$ & #H&SP ~ & # -C
O #& 8 HoOO#T @ * +
*5 * 5 4 $ 6 + 5 4 4 B 5
7 * 5 40 7 + T * 4 5 65 6 +4 6
* 5 5 7 4 * 4 ;
5 H 5 eL=1 (5 <«- 37 6 5 + * 44 N
6 4 *
zo* B 4
Period  Burial Phase Date of burial
: = < B H+ 2 > =T 7 9 pal
9 9 - * 4 # + 7 9>
9 - * 64 , t4 6 + 6 9>
i
9 # OB 5 6 66 4 9>
9 # OB 5 5 + * 9>
6 64
9 # OB 5 , 5 6 9>
H*
9 , 4 + 5 6 9>
9 2 # Ma 6 + 9>
9 > # 4 6 47 * 9>
@ @ # 4 - 64 6 4 - @ M
4 7
@ = , 4 1776 3+ @ M
17 6 3+ 64 1 6 3+ 4
> 9 4 + 6 4 > 7 4
- #H&” #1& * , B
, 47 6=::4 5 4 #6 7 * 5 * 6
# + 4 6 ++ 4 7 6
6 + 4 7 4 5 4 7 z 5 6 +4 6
5 6 4 - /1 =3 = 7 4 # o+ * N b +;
4 5 6 4 - /1 37 7 *C 4
* 4 +6 7 + + 6 * 6 4 -

9 I/1 29 b * 6 4 - 9 I/1 29 - /1 34 5
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Lab Sample Context Radiocarbon Calibrated Calibrated
number reference age (BP) date range (1 ) date range (2 )
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6
H o0 9 = =2 1/22:7 20 >: X
6 > #$ 2>: #3$
- 2 4
* +
7 5 +4 + b 9T =T H + 7 7 ;
* + * * + 4 4 4 7 4
6 4 1 93 C 6 4 44 * BL 93
5 7 5 :
7 ** * 1, + @93 * +(C 1 2:31 B 4
@3 7 ** 4 1 4 >3 7 * *
+ 7 * * - 1 93
(& O (&
5 + =
4* 4 4 + + 76 * >4 4 *
6 4 * + 75 6 + 5 47 6 7
6 5 4 ? 4 45 *H # C 6* +
b 7 + + 4 6 4 4 7 b
1,+03
# 7 + + 5 5 * 6 * b
4 C 47 " <) 5
7 * + 17 7 * 7 37 + 6 6
#+ 9 :1 2 2: 9% B " < +
4 7 4 + * - K HFF <5
4 ** T T 4+ ++ 5 * * - < 7
* 5 B * , 7 6 6 - < HFX 4
5 + | < +
7 6 + 6 *6 9 1* 29 3
z * * 4 45 7 4
* 5 47 * + 4 B
! * 4 b b ; b 7
7 6 4 1 2 2>= @93 C 47 5 4 4
5 * 7 6 A 5 4 * o+ 4
1 >3 1 4 4 6

(5 «<- | b 1,+23" 5
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N 47 4 18IV *
2 223
L | 45 + 4 a4 * P ‘77
+ 6 ! 7 65 7 + 4 6 4 2
7 7 * + l * 5 4 4 H 5
+ 6 36 B 5 4 J 4 * ; 4 45
“ 45 = 7 6 4 7 . z >
* 66 +4 6 4 + 4 -+ 5 7% *
T ’ 4 5 5 * 5 6
: 4>y - S + H + 6
+7 z 7 7 a7 6 * : 6 4
! ” 4 5 1 2 20= 9 9 A
* +
# 6 b 7+ 7 67 : 4 .y 5
* + 6 H 4 6 _ * " ;
5# + ; 4 1 2 2>= (093 # a
4 69 5 7 5 - . )
7 + * B H * 4 1"" + 5 > 2 >3 5 7 5
[ 4 § 5 . 4 .
! ° S 7 6 41
9 >3 5 + 6 5 4 :
° ’ 6 ; 4 4
5 7 ) 5 . .
" + 5 @ => =3 ++ 7 6 " ) : .
,+23
. ++ 5 5 B N a . <
a+ * <1 2 2023 # + ; 4 6 :
6+ 7 + 4 6 6 5 —
5 1* 2= 31 7 * + 6 9 4
* +B 5 |- 4 Tl <22 + A 5
* 4 5 "5 4 7 . 4 )
5 4 5 # o+ 4 6 47 47 6
4 * N A .
5
+ ] ! .
a 7 6 5 5 : L E
$ < * 5 * a
1- =33J 4 B * a* 5 ; 4 4 s .
+ +7 A4 "5 7 6 6 +4 6 5 6 x 14
> 23 4 +4 * # (5 < s "
6 65 5 64 : * - ) S .
++ 6 (5 < 5 IS¢ 7 . .
$ 47 * 1"" + 5 . A . o
Yo ) o < $ = + 6
5 54 : * + 6 H < * 7
6 7 6 + + 5 § 7 ] JB + 4
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# 6 6 (5 s <+ 7 5 7 5;
6 54 4) 5 5 * *x
7* 5 5 5 7 6 7 4 6 (5 <«
5 7 6 B + B 8 + 4 =::4
< 7 ** B 5 6 4
4 z 47 6 < falad 5 A 6
6 5 7 ! + 4
4 6*7 45 * 4 1, 2 27
=: 3 <5 7 4* + 7 + * - < J
6 4 4 M
” 5 47 5 * * * 6 4
7 1 7 6 6 66 6 5 7 **
+ 6 i 4 5 1" 9 2 >2"" +5 2::>3
4 + 7 476 B 5 + 6 5 ;
* 5 5 4 7+ 7 6 4
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, 5 7 ! 6 7
$ 8 7 % 7 H N *
7 #+ " 5 5 &5 -+ %+ !

4 6 8 7 - - * 4* +
6 4 4 (5 < - + 4 5 B ;
a4* 6 % 7 - + 44 B7 + 6 ;

5 B 6* BH + 6 47 $
6 , B 4 7 6 4 ; B b
+ 47 7 5 7 + 7 L. . 7 5 ;
6 4 5 7 , 4> B H z 4 ;
* H 44 6 4 7 6. 5 7 6

6 4 6 4 - 5 6 4
66 6 4 7 # 5 7

47 4 + 6 B 6 + + H - B

++ 6 56 + +
5 5 5 + 5 B 6 7 *
+ 7 6 4 ! 5 7
+ 7 4 6 H * o 5 6 5 +5 5
B B5 5 6 7 4 + 6
4 6 7 + o+ 67 * 5 + 7 5 B
. 4 o6
77 + 6 7
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$ 7 6 * 6 29
4 +82 # / 1 377 >2 + <
+ +1 * ,+ 23 5 + b 4
7 5 6 5 5 6 5 * D C
C 0 & 4* 297 4 7 5 7
% 29 7 7 =:=5 5 47 * 7 * 7 4
* ,+t 23
” 4 4B 6 C * +
7 5 6 7 6 5 7
7 4 6 - 7 C > 57 b
6t 4 4 4 z ! 4*  H+
* C * 68 + 5 $
** ” 4 5 4 4 5 67 ** *
D z 4 6 6H+ 7 5 -
2 & * +
* &P => , a7 + B
* , + 2>
” + H+ * 4;6 64 + N7 5 7 5
6H H 77 6 5 67 = 5 5
5 N+N+ * 4 + W * 4 67+W'6 + 5
6 5 kY 6 6 * * + 57
5 B 6 4 4 * MW
4 6 4 5 6 W * 4 67+ 6 *
z 7 B + 6 & -
7 1 VB B3 +J W * 4 67+1S 4 4%
4 M5 ; 5 4 + 6 + + 7 &
+ A 5 + 4 * 6 5 5 15
* * 7 6 * +3 #+ 5 4 6 ;
6 7 + * 5 * 3
47 ** * 7 6 4+ 6 4 7
6 66 & 5 5 7 + 7
7 4 ¢ 77 * + 4 77 *
- 7 6 4 4 + + 6 7 +
6 > + 7 # 4 6 5
4 3 > 5 77 * 5 * 4
4 #Ht 5 6 4 +7 7
7 C & 5 5 7 6 1 6 4*
65 3 B +4  6H+ + 4 4
* ” + * 5 48 H+ 4 B
B 4 B 8 +Z
> C 22# + 2=t 7 * D 64
#6 5 6 6 &5 * < C
5 * + + 5 B4 4 7 6 * 6 7 4
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* H 6 * 5 6 +6 4 5 96 9 6 4 6
9 z 7 4 5 47 4 5 6 6
4 + 5 * + H+ 6 H o+ 7
6 5 * + 7 N +6 4 ;6 ;C 6
+ 6 7 5 * 6 4 a7 6
7 N * B 4 H 75 4 4 6H
* B * b5 77 * 6 * + 7 z 6
H 6* B * + 6 + 6 4 7 6
* # + 7 4 5 7 *=* A 6 +;
B 47 * + 5 7
4 B 7 H 7 4 15 7 ** 6 75 6 ;
3 * 7 7* 5 6 47 * # 5 + 5
* 4 6 7 4 * B 7 65 6 # C
! * 56 7 4 * 77 5 6
C 6 * 7 * * 7 5
5 +
# 7 4 * 6 4 6 4 7 + 47 6
6* 5 +6 4 6 5 4 7 5 ;
A 6 6 7 4 * 5 5 5 B;
7 * #H 7 4 6 7 4 * B; 9
C B 6 6 * + B5 5 ; 4 * 5
* 6 7
C 6 7 4 * 5 H ;7 ;
A 47 6* B + * 6 B 6 7 7
6 + z 5 3 5 + 4 ) +5 5
7 ** # +; 41 + 4 6 A 5
; 5 6 7 6 67 [
+
# @ %# , # ( #, D# 2) 1 3
#B I1# + , 5 B ik 4 7 < s 25 @ >2
#B 2 #
B & b 6 4 + %# # $
2 1 $ 5 4 £ 6 4 #+
< 7 >0
z | 4 +E # 4 #+
+ <% # , 42
5 =l ¢ 4 # + 4 + * + 6 7" 7
V W< # $ #= 04 #$ +7 2> 0
= | D 7 . ! 4 7 < / C 55
9 >
7 1 3 2 $ 4+ 1 3
. | 7 < $ " B 1l 3 () 1C6 3
>::
2 1# + ; 4 J 7+ 7 5¢ 7 229 @
B 4 @ z) 6,<>E # + + # 1C6 *
# O 3
5 - 1 * + < 2 22= >
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32 0
$+ D @ %
+ =3 #% #& #" % 1
93 3
+ 6 4 + 7 H 6 4 > 61 0, :3 6
. 5 % 7! > ), #+ 00
1$ 3
* o+ - 2 . $ 2 %# #1 3
. 2 I\ 5 7 ]t 4 6*7 4
7 2
, * B 7% : 2 $ 1 3
# - + 5 @ #0 1 3
+ 217 4 - < " +5 - B > =
- & + 5 5 4
25 2=
, |- 4 < "+ 5 / 9
4 + $ $ 3 # /
12 3
> () % 15
b |~ pal < "+ 5 >> 0=
>l 32 $ % 1
’ 0! 5 B
93 =
"+ 5 > #= 1 3
+ 5 @ 1 < 41 3 ()
1 3I>= 0
+5 I# + 9 1 9% * = 2
"+ 5 | EC # + # 4
7 6 3
" +5 2::> | 4 7+ 7
36 > 2
"+ 5 - B #. 217 4 (5 < -
13 2=
"+ 5 # % E ()
: # 1% B3
"+ 5 - ;4 6H 6H 6
2 29
" +5 # - | > )
11 > @
"+ 5 b I 6 (5
"+ 5 22
"+ 5 # - / # D
% # , 23 = 2>

.o & 1 3 ; $ 2 4f $
- 2? # = 1 3

"5 $ - B $, &

7 2
> & %# ,
1 3
4 C -7
>t $
#+ + <
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b b 21 9 , ! 4 7 < / C 52209
b b @1 > /C 54 =2
b " 9| 1 43% D < 8 + -., 5
& ? $ &5  #** 3 9>
" " @1 # + 6 < 102 > 2
b b = F 1 4% +3
b " 9 E & # # 1 4% +3
b b 17 7+ 7 4 < b 1 3 >>=
b b * | 7 A< " 1 3 =29
b 13 $ & E # # , - 4 3
1 > | 4 7 < "M +5 9 20
4 # @ I# 4 * + < C 141
22=
A | 7 < - 22>
8y * ; = I# 4 E7 * 4 7 < 2?2 #
7.1 :
8y * ; 216 7 £ 7 6 D 2 <
1 37 1 32:0
+ & =9 | < 61C <1 7 7
* 3
3% 3$ # -/ " - 8 3 & + 1 1 9:3
+ " 4 #1 3 > & " $ 7 21 3
C B # # - 1 3
B # >+ B 2:: @2=¢ = C 532
B D 9 | 4 +E 44 L 7 * 5 6
! * 6 <& # + 28
$ 3 # 1 3
. > I1#7T 4 6 4 7 &) <«?
% .68
& 9: 9> . # 1 3
& $ & % 1 3
- : 0 ++ 1 # 113
- H#HH# $ + 1 44 6 # #
4 C -7 4 3
- #H# =1 -7 < 4 2 # $ ), £E3 4 #1 #
7 563
- H#HH# 9 z, $ + F "1l # 246
6 3
- B D 9: . B #+ 1 % 1 3
- D > $ % # 3# 1 *
& =9:3
5 21 4 7 B < 91 =
&" , 4 1 3 & " " z
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5 D $
5 D @1 7F 7 6 7+ 7 7 + s
() e 3 2>
5 D $ 1 3
+ 7 2 # / 1 3
* - - - 0% #" # # #1 3
4Dy 4 - D& #3 ? . wE>> >1 4* +3
4 -, 9 I# a7 7 + 46 * + <& # +
122 >
4 - > | e * #1 >0 4 *
+ A& H# + 352 =>:
- D 9 I""+ 7 * 6 * 4
=: =:I: <& # + 28 =>
7 # , 1 3
7 1 3 99 % £ 2 F " 4 5
# > 17 4 7 < 17 7 ;4 7 < +5 2= @
# |7 * 4 7 6 4- I/#  $B 2
# | A < "+ 5 :
B $1 3 20 | 6 4 6 6 = 2:<¢<$ # % 22
1 " 3
* -/ 9 | / D K 94 @9
4 D #oo- # , 1 3
+ D) # & 1 # 43 (6 3
B5N.$ 9 3 4 $ E1 # 1 663
, 4 5 ot | 9 I R Y A
C 521 291 > / C 541 @l 1
D < 8 + -..,5 & ? 3 &5
93 E & # # 1 4* + 93 44 # D &
1 3> 00 ) & 1
> == o 13 $ & 3 # #
1- 4 3
D 5 . $ 13 @1 78 7
7+ 7 7 + , # () 16 @ %
1 3 = $ 3 # 1 3>0 =2 -
D 4 & # 3 2 - #Hwe>> >1 4* + 3 ?
[ $ 5 4 4 6 4 #+ <
71 3 $ + 1 2329 7. # +
4 J 7+ 7 5¢ * 202 1 3 == A
6 4 8 + 4
D + 6 Y6 7 6 6 6
. & + I <1 =31 6 1C €& 7
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C - =@L2L D) >l2
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$ 1 G, L =1l
LAl LAl | 9 ) I 4 7
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# , z # 1% B 39 2 =
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